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1) Sketch the graph of the function 𝒇(𝒙) = (𝟓𝟒)𝒙 then Find the domain, 

range, y-intercept, asymptote, and end behavior. 

  

2) Using transformations sketch the graph of 𝒇(𝒙) = −𝟐(𝟏𝟑)𝒙+𝟏 − 𝟑 

 

 

3) Determine whether each function represents exponential growth or 

exponential decay. 

      a) 𝒇(𝒙) = 𝟎. 𝟗𝟓𝒙 

 b) 𝒇(𝒙) = (𝟓𝟑)𝒙 

 

4) Sketch the graph of the following piecewise function 

         𝒇(𝒙) = { 𝟐𝒙 + 𝟒   ,   𝒙 < 𝟎     (𝟐𝟑)𝒙     ,   𝒙 ≥ 𝟎 

 

5) The value of an automobile depreciates by approximately 15% each year 

after purchase. Jayden paid $28,000 when he bought his car 15 years ago. 

    a. Write a function that models how the value of the car depreciates.  

    b. How does the average decrease in value during the first five years of 

ownership compare to the last five years of ownership? 
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Domain: (−∞, ∞)          Range: (𝟎 , ∞)    

y-int = 1 

End behavior: 𝒙 →  −∞         ,      𝒇(𝒙) →  𝟎          𝒙 →  +∞         ,      𝒇(𝒙) →  +∞ 

2 

 

3 
a Decay 

b Growth 



 

 

 

 

4 

 

5 

a  𝑨(𝒕) = 𝟐𝟖𝟎𝟎𝟎(𝟎. 𝟖𝟓)𝒕 

b 2445.918 $ 



 

 

   
 
 

 

 

1) Solve the following equations: 

    a)    𝟑𝟓+𝟐𝒙 = 𝟐𝟕     b)  𝟒𝟏−𝟐𝒙 = 𝟖𝒙+𝟑 

  

    c)    𝟐𝟓𝟏+𝟔𝒙 = 𝟔𝟐𝟓𝟕𝒙    d)   𝟔𝟏−𝟐𝒙 = ( 𝟏𝟑𝟔)𝟐𝒙+𝟑 

  

    e)    𝟐𝟓𝟔𝒙+𝟒 = 𝟏𝟔 𝒙𝟐     f)  ( 𝟏𝟏𝟔)𝟏−𝟕𝒙 = 𝟑𝟐𝟑𝒙+𝟐 

  

 g)  (√𝟓𝟑 )𝟔𝒙 = ( 𝟏𝟔𝟐𝟓)𝟐𝒙+𝟒    h)  (√𝟑𝟐 )𝒙+𝟏 = (𝟖𝟏)𝟐𝒙 

 

2) Solve the following inequalities: 

    a)    𝟏𝟔𝟏+𝟑𝒙 > 𝟖     b)  𝟑𝟐𝒙 ≥ 𝟐𝟕𝒙+𝟓 

  

    c)    𝟐𝟓𝟔𝒙+𝟏 < 𝟏𝟐𝟓𝟐𝒙    d)   (𝟏𝟔)𝟐−𝒙 ≤ ( 𝟏𝟑𝟔)𝒙+𝟒 

  

    e)    𝟐𝟓𝟔𝟐𝒙−𝟓 < ( 𝟏𝟑𝟐) 𝟑𝒙    f)  ( 𝟏𝟔𝟒)𝟑−𝟒𝒙 ≥ 𝟑𝟐𝒙+𝟐 

  

 

3) Salem’s car has a value of 18000$ and its value is decreasing at a rate of 
12% annually , after how many years will the value be less than 9000$ 

 

 

4) Ali invested 25000$ in a bank that gives a yearly interest rate 4.25% , 

what will be the balance after 8 years compounded monthly  
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Q Answer 

1 

a -1 

b -1 

c 1/8 

d -7/2 

e -16/3 

f 14/13 

g -8/5 

h 1/15 

2 

a {𝒙|𝒙 > −𝟏/𝟏𝟐} 

b {𝒙|𝒙 ≤ −𝟏𝟓} 
c {𝒙|𝒙 < −𝟏/𝟑} 
d {𝒙|𝒙 ≤ −𝟐} 
e {𝒙|𝒙 < 𝟒𝟎/𝟑𝟏} 
f {𝒙|𝒙 ≥ 𝟐𝟖/𝟏𝟗} 

3 5.42 year (During 6th year) 

4 35102.6 $ 



 

 

   
 
 

 

 

1) Sketch the following functions graphs: 

    a)    𝒇(𝒙) = 𝟑𝒆𝒙+𝟐      

    b)  𝒇(𝒙) = −𝟎. 𝟓𝒆𝒙−𝟑 − 𝟐 

    c)  𝒇(𝒙) = 𝟐𝒆𝒙+𝟐 − 𝟓 

     

2) Simplify the following: 

    a)    
𝒆𝟐𝟐𝒆𝟓                 b)  (𝒆𝟐𝒙)𝟑                       c)    𝟒𝒆−𝟑 

    d)  (𝟑𝒆𝟒)𝟐                                e)    (𝒆𝟒)𝟑. 𝟐𝒆𝟓  f)  
𝟏𝟔𝒆𝟕𝟖𝒆𝟓  

  

 

3) For the function 𝒇(𝒙) = −𝟐𝒆𝒙+𝟏 + 𝟒 

        a) Find the domain and the range 

  b) Find the end behavior 

  c) Find the average rate of change over the interval [-3,1] 

 

 

4) Ali invested 40000$ in a bank that gives a yearly interest rate 6% , what 

will be the balance after 8 years compounded continuously   
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1 

a 

 

b 

 

 

 

c 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

2 

a 
𝟏𝟐𝒆𝟑 

b 𝒆𝟔𝒙 

c 
𝟒𝒆𝟑 

d 𝟗𝒆𝟖 

e 𝟐𝒆𝟏𝟕 

f 𝟐𝒆𝟐 

3 

a Domain: (−∞, ∞)  ,  Range: (−∞, 𝟒) 

b 
𝒙 → −∞      𝒇(𝒙) → 𝟒 𝒙 → +∞      𝒇(𝒙) → −∞ 

c -3.62675 

4 64642.976 $ 


